
Drawing Index 

Name Doc.No Document Description 

2001979.087F.pdf 2001979.087 WATER RETICULATION STANDARD BULK WATER METER UPGRADES CHAMBER DESIGN 
CATHODIC PROTECTION BONDING AND MONITORING INSTALLATION 

2001979.089.pdf 2001979.089 WATER RETICULATION STANDARD STEEL PIPE CATHODIC PROTECTION FLUSH TEST 
STATION 

2001979.090.pdf 2001979.090 WATER RETICULATION STANDARD GROUND MARKER PLAQUE CATHODIC PROTECTION 
ANODE DESIGN AND INSTALLATION DETAILS 

2001979.091C.pdf 2001979.091 WATER RETICULATION STANDARD CATHODIC PROTECTION DETAILS ELECTRICAL 
CONNECTIONS TO PIPEWORK 

2001979.094.pdf 2001979.094 WATER RETICULATION STANDARD STEEL PIPELINE CATHODIC PROTECTION PILLAR 
MOUNT TEST STATIONS 

2001979.095C.pdf 2001979.095 WATER RETICULATION STANDARD STEEL PIPELINE CATHODIC PROTECTION DETAILS 
OF INSULATED FLANGE ASSEMBLIES 

2001979.113.pdf 2001979.113 WATER RETICULATION STANDARD CATHODIC PROTECTION PILLAR TEST STATION 
DETAIL 

2001979.133B.pdf 2001979.133 CATHODIC PROTECTION POWER SUPPLIES TR CONCRETE PLINTH WITH ASPHALT 
INSULATION PAD 







COPYRIGHT
ORIGINAL SCALE A3 CONTRACT No.

DRAWING No. ISSUE



COPYRIGHT
This drawing, the
design and concept,
remain the exclusive
property of Watercare
Services Limited and
may not be used
without approval
Copyright reserved.

ORIGINAL SCALE A3 CONTRACT No.

DRAWING No. ISSUE

DESIGNED

DES. CHECKED

DRAWN

DWG. CHECKED

PROJECT LEADER

ISSUE DATE AMENDMENT BY APPD. BY DATE

CAD FILE DATE

A.D. APPROVED

J.V.H. 1-07 OPERATIONS

ASSET MANAGEMENT

19/10/18

4197

C

AS SHOWN

M.S.

D.B.

1-07

1-07

DESIGN GUIDELINE

A

DETAIL     A

FLAT WASHER

SPRING WASHER

HEAT SHRINK
ADHESIVE LINED

PIPE FLANGE

VALVE FLANGE

CP CABLE

CP CABLE

CADWELD CONNECTION DETAIL

2001979          .091

_

_

FLANGE

POSITION TO SUIT
ACCESS &
MAINTENANCE

30

25

DRILLED & TAPPED HOLE
M6 OR M8 (NOTE 1)

R
12

,5

25 x 10 MS FLAT

LUG DETAIL
SCALE 1 : 2

PAINT COATING TO WATERCARE
SPECIFICATION 281 OR APPROVED
EQUIVALENT.
MUST OVERLAP PIPE COATING AND
EXTEND ABOVE DISC / BOLT WELD

ROLL AND CONTROL DISC PROFILE 
TO PROVIDE 1mm MAX GAP TO PIPE PROFILE
ALL ROUND

3mm SEAL WELD AROUND FULL
CIRCUMFERENCE OF DISC
CONTROL HEAT INPUT TO 
LIMIT PAINT BURN
MAKE GOOD WITH WSL WELD 
REPAIR SYSTEM COMPATIBLE WITH 
PIPE COATING

3mm SEAL WELD AROUND FULL
CIRCUMFERENCE OF BOLT HEAD

NOTES:

1.  BOLTS TO BE 316L STAINLESS STEEL.

2.  WELDING OF 316L STAINLESS BOLT TO MILD STEEL DISC TO BE
 TO AS/NZS 1554, PART 6: LEVEL 2, CLASS B.
 PICKLE & PASSIVATE OR LIGHT ELECTROPOLISH WITH CARE TO
AVOID AFFECTING MILD STEEL PLATE. MUST BE LEFT WITH 
PAINTABLE FINISH.

3. NDT BY LIQUID PENETRATION ON 100% OF WELD CIRCUMFERENCES.
WHERE SEVERAL BOLTS ARE BEING INSTALLED PERFORM LIQUID 
PENETRATION NDT ON MINIMUM OF FIRST WELDED BOLT 
CONNECTION. ALL WELDS ON ALL LUGS TO BE 100% VISUAL NDT.

4.  PLATE AND WELD MUST NOT OVERLAP PIPE WELDS OR WELD  HEAT 
AFFECTED ZONE. 

AIR HOLE O2 SEAL WITH 
PAINT AFTER WELDING

DISC O125 x 6 OR SIMILAR
PIPE GRADE MILD STEEL

M8 x 20 LONG BOLT

WELDED BOLT CONNECTION DETAIL

CATHODIC PROTECTION DETAILS

SCALE 1 : 5

2001979.091C

A 04/07 NOTES & SIZES CHANGED MS

NOTES:

1.  DRILL & TAP HOLE IN LUG, M6 OR M8 AS SPECIFIED BY ENGINEER.
2.
3.

4. 

 BOLTS & WASHERS TO BE ALL ZINC COATED MILD STEEL 
PREPARE STEEL SURFACE UNDER CRIMP LUG �WITH GRIT PAPER 

 TO CLEAN STEEL FINISH.
 COAT BOLTED ASSEMBLY & SURROUNDING SURFACE TO  
WATERCARE SPECIFICATION.  TAKE CARE AT INSULATED 
FLANGES NOT TO BRIDGE INSULATING  WASHERS OR  GASKETS 
WITH ZINC RICH PRIMERS.

5. 316L STAINLESS STEEL LUG MAY BE SPECIFIED BY ENGINEER. FOLLOW NOTES IN
 DETAIL 4 FOR WELDING PROCEDURE . REPAINT FLANGE TO SPECIFICATION
 281.PAINT MUST OVERLAP ONTO LUG BY MINIMUM 10mm. BOLTS, WASHERS AND
 CRIMP LUGS MUST ALL BE 316 STAINLESS STEEL.

NOTES:

1. BOLTS & WASHERS TO BE ALL ZINC COATED MILD STEEL.

2. MINIMUM 15mm DEEP M6 BOLT HOLE TO BE DRILLED &
TAPPED IN FLANGE EDGE CENTRAL BETWEEN FLANGE
 BOLT HOLES.

3. PREPARE STEEL SURFACE UNDER LUG WITH GRIT PAPER
TO CLEAN STEEL FINISH.

4. COVER GAP BETWEEN FLANGES DURING DRILLING & TAPPING TO
KEEP OUT STEEL FILINGS.

5. CLEAN ALL DEBRIS FROM PIPE, FLANGE JOINTS & BOLTS.

6. COAT BOLTED ASSEMBLY AND SURROUNDING SURFACE WITH
POLYKEN 937 BRUSHABLE MASTIC.

TAKE CARE AT INSULATED FLANGES NOT TO  BRIDGE INSULATING
WASHERS OR GASKETS WITH ZINC RICH PRIMERS.

ELECTRICAL CONNECTIONS TO PIPEWORK

NOTES:

1. CABLES GREATER THAN 16mm2 MUST BE SEPARATED AND CONNECTED WITH
MULTIPLE CADWELDS. CADWELDS MUST BE SEPARATED BY 50mm OR GREATER.

2. CADWELD CARTRIDGE CA15F33 SHALL BE USED FOR ALL CONNECTIONS.
MULTIPLE CARTRIDGE CHARGES SHALL NOT BE USED. IF A CADWELD MUST
BE REPEATED, A NEW PIPE SURFACE MUST BE PREPARED AT LEAST 50mm FROM
THE ORIGINAL WELD ATTEMPT. MORE THAN ONE WELD ATTEMPT ON THE SAME
SPOT IS NOT PERMITTED.

3. CADWELDS MUST BE 50mm OR GREATER FROM EXISTING WELDS IN PIPE.

4. REMOVE PIPE COATING FROM AN AREA 100mm x 100mm OR LARGER IF REQUIRED.
FOR TAPE WRAP FOLLOW STRESS RELIEF PROCEDURE. FOR ALL OTHER EXISTING
COATINGS REMOVE SHARP CORNERS WHICH COULD PROMOTE SPLITTING OF COATING.

5. CLEAN SURFACE OF PIPE BY WIRE BRUSH AND FILE TO OBTAIN WHITE METAL FINISH.

6. STRIP CABLE END AND TWIST CONDUCTORS TO FIT CADWELD MOLD.

7. FOLLOW MANUFACTURERS CADWELDING PROCEDURES TO MAKE CONNECTION.

8. TEST STRENGTH OF CONNECTION BY LIGHTLY TAPPING WITH 0.5kg HAMMER.

9. REMOVE ALL WELD SLAG AND SPATTER, SHARP EDGES AND BURRS WITH METAL FILE.

10. WIPE PIPE SURFACE WITH CLEAN, OIL FREE RAGS TO REMOVE ANY LOOSE DUST AND
ENSURE THE SURFACE IS DRY.

11. FOR BURIED CADWELD CONNECTIONS FOLLOW WATERCARE REPAIR PROCEDURE (277.10).
USE MASTIC FILLER AROUND CADWELD AND CABLE. EXTEND FILLER BEYOND END OF
REPAIR WRAP. FOR CADWELD CONNECTIONS IN CHAMBERS AND ABOVE GROUND, RECOAT
CADWELD AREA WITH POLYKEN 937 BRUSHABLE MASTIC OR APPROVED EQUIVALENT.

12. SECURE CABLE WITH TWO TAPE ANCHORS USING PIPE WRAP TAPE OR PLASTIC CABLE
TIES, MINIMUM 500mm LONG. LEAVE MINIMUM 200mm CABLE SLACK BETWEEN TAPE
ANCHORS. FIRST TAPE ANCHOR TO BE ADJACENT TO EDGE OF REPAIR COATING.

COAT CADWELD
& CABLE TO WSL
SPECIFICATIONS

SEE NOTE 11

NUT
SPRING
WASHER

FLAT
WASHER

M6 TINNED
COPPER LUG

SURFACE PREPARATION
REFER NOTE #2

M6 x 25 BOLT

TAPPED CONNECTION TO FLANGE DETAIL

SCALE 1 : 2

HEATSHRINK
ADHESIVE LINED

CP CABLE

BOLTED WELD LUG
CONNECTION DETAIL

LUG

5

LUG

M6 x 15 LONG BOLT
REFER NOTE 2

JvH

1

2

3
4

TAPE ANCHORS
CABLE IN CONDUIT.
SEAL END OF CONDUIT
WITH CABLE GLAND
OR EQUIVALENT.

REMOVE PIPE TAPE
COATING FROM
100mm x 100mm

ORIGINAL WRAPPED
COATING (TYP)

B 08/08 CP CABLE CHANGED MSGB










	Drawing Index
	2001979.087E
	2001979.089
	2001979.090
	2001979.091B
	2001979.094
	2001979.095B
	2001979.113
	2001979.133A

	Index: 


